
 
 

Find a closed form: 

𝛀 = ∫ ∫ (
𝐥𝐧(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
)

𝟐

𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

 

 
Proposed by Abbaszade Yusif-Azerbaijan 

Solution 1 by Amin Hajiyev-Azerbaijan 
 

𝜴 = ∫ ∫ (
𝐥𝐧(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
)

𝟐

𝒅𝒙𝒅𝒚, {∫ ∫ 𝒇(𝒙𝒚)𝒅𝒙𝒅𝒚 = −∫ 𝐥𝐧(𝒙)𝒇(𝒙)
𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝟏

𝟎

𝒅𝒙
𝟏

𝟎

} 

 

𝜴 = −∫
𝐥𝐧(𝒙) 𝐥𝐧𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙,𝒖𝒔𝒊𝒏𝒈 İ𝑩𝑷 𝒎𝒆𝒕𝒉𝒐𝒅  

{
 
 

 
 𝒖 = 𝐥𝐧(𝒙) 𝐥𝐧𝟐(𝟏 + 𝐱),   𝒅𝒖 = (

𝟐𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
+
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙
)𝒅𝒙

𝒗 = ∫
𝟏

(𝟏 + 𝒙)𝟐
𝒅𝒙 = −

𝟏

𝟏 + 𝒙 }
 
 

 
 

 

𝜴 = [
𝐥𝐧(𝒙) 𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙
]𝟎
𝟏 − 𝟐∫

𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

 

𝜴 = 𝟐𝜴𝟏 +𝜴𝟐 

𝜴𝟏 = ∫
𝐥𝐧(𝒙)𝐥𝐧(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
𝒅𝒙

𝟏

𝟎

, 𝒖𝒔𝒊𝒏𝒈 𝑰𝑩𝑷 𝒎𝒆𝒕𝒉𝒐𝒅 

{
 
 

 
 𝒖 = 𝐥𝐧(𝒙)𝐥𝐧(𝟏 + 𝒙),   𝒅𝒖 = (

𝐥𝐧(𝒙)

𝟏 + 𝒙
+
𝐥𝐧(𝟏 + 𝒙)

𝒙
)𝒅𝒙

𝒗 = ∫
𝟏

(𝟏 + 𝒙)𝟐
𝒅𝒙 = −

𝟏

𝟏 + 𝒙 }
 
 

 
 

 

𝜴𝟏 = [−
𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
]𝟎
𝟏 +∫

𝐥𝐧(𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 +∫
𝐥𝐧(𝟏 + 𝒙)

𝒙
𝒅𝒙

𝟏

𝟎

−∫
𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = 

= −∑𝒏(−𝟏)𝒏∫ 𝒙𝒏−𝟏 𝐥𝐧(𝒙)𝒅𝒙
𝟏

𝟎

−∑
(−𝟏)𝒏

𝒏
∫ 𝒙𝒏−𝟏𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟏

∞

𝒏=𝟏

− [
𝐥𝐧𝟐(𝟏 + 𝐱)

𝟐
]𝟎
𝟏 = 

= ∑
(−𝟏)𝒏

𝒏

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

𝒏𝟐

∞

𝒏=𝟏

−
𝐥𝐧𝟐(𝟐)

𝟐
= − 𝐥𝐧(𝟐) +

𝛇(𝟐)

𝟐
−
𝐥𝐧𝟐(𝟐)

𝟐
 

𝜴𝟐 = ∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙,

𝟏

𝟎

   𝒖𝒔𝒊𝒏𝒈 𝑰𝑩𝑷 𝒎𝒆𝒕𝒉𝒐𝒅 



 

{
 

 𝒖 = 𝐥𝐧𝟐(𝟏 + 𝒙), 𝒅𝒖 =
𝟐 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝒗 = ∫
𝟏

𝒙(𝟏 + 𝒙)
𝒅𝒙 = ∫

𝟏

𝒙
𝒅𝒙 − ∫

𝟏

𝟏 + 𝒙
𝒅𝒙 = 𝐥𝐧(𝒙) − 𝐥𝐧(𝟏 + 𝒙)  

}
 

 
 

𝜴𝟐 = [𝐥𝐧𝟐(𝟏 + 𝐱)(𝐥𝐧(𝐱) − 𝐥𝐧(𝟏 + 𝐱))]𝟎
𝟏 − 𝟐∫

𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 + 𝟐∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙
𝒅𝒙

𝟏

𝟎

= 
= −𝐥𝐧𝟑(𝟐) − 𝟐𝑰 + 𝟐𝑱 

𝑰 = ∫
𝐥𝐧(𝒙) 𝐥𝐧(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = −∑(−𝟏)𝒏𝑯𝒏∫ 𝒙𝒏 𝐥𝐧(𝒙) 𝒅𝒙
𝟏

𝟎

∞

𝒏=𝟏

= ∑
(−𝟏)𝒏𝑯𝒏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟏

= 

= ∑
(−𝟏)𝒏 (𝑯𝒏+𝟏 −

𝟏

𝒏+𝟏
)

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟏

= ∑
(−𝟏)𝒏𝑯𝒏+𝟏

(𝒏 + 𝟏)𝟐

∞

𝒏=𝟏

−∑
(−𝟏)𝒏

(𝒏 + 𝟏)𝟑

∞

𝒏=𝟏

= 

= 𝟏 −∑
(−𝟏)𝒏𝑯𝒏

𝒏𝟐

∞

𝒏=𝟏

−
𝟑𝜻(𝟑)

𝟒
− 𝟏 =

𝟓𝜻(𝟑)

𝟖
−
𝟑𝜻(𝟑)

𝟒
= −

𝜻(𝟑)

𝟖
 

𝑱 = ∫
𝐥𝐧𝟐(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 = ∫
𝐥𝐧𝟐(𝒙)

𝒙
𝒅𝒙

𝟐

𝟏

= [𝐥𝐧𝟑(𝐱)]𝟏
𝟐 − 𝟐∫

𝐥𝐧𝟐(𝒙)

𝒙
𝒅𝒙 = 𝐥𝐧𝟑(𝟐) − 𝟐𝑱

𝟐

𝟏

 

𝟑𝑱 = 𝐥𝐧𝟑(𝟐)    𝑱 =
𝐥𝐧𝟑(𝟐)

𝟑
 

𝜴𝟐 = −𝐥𝐧𝟑(𝟐) +
𝜻(𝟑)

𝟒
+
𝟐𝐥𝐧𝟑(𝟐)

𝟑
=
𝜻(𝟑)

𝟒
−
𝐥𝐧𝟑(𝟐)

𝟑
 

∫ ∫ (
𝐥𝐧(𝟏 + 𝒙𝒚)

𝟏 + 𝒙𝒚
)

𝟐

𝒅𝒙𝒅𝒚
𝟏

𝟎

𝟏

𝟎

= −𝟐𝜴𝟏 − 𝜴𝟐 = 𝟐 𝐥𝐧(𝟐) −
𝛑𝟐

𝟔
+ 𝐥𝐧𝟐(𝟐) −

𝛇(𝟑)

𝟒
+
𝐥𝐧𝟑(𝟐)

𝟑
 

 
Solution 2 by Togrul Ehmedov-Azerbaijan 
 

𝐈 = ∫∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙𝒚)

(𝟏 + 𝒙𝒚)𝟐

𝟏

𝟎

𝒅𝒙

𝟏

𝟎

𝐝𝐲]

𝒙𝒚=𝒎

= ∫
𝟏

𝒙
∫
𝐥𝐨𝐠𝟐(𝟏 +𝒎)

(𝟏 +𝒎)𝟐

𝟏

𝟎

𝒅𝒎

𝟏

𝟎

𝐝𝐱
𝑰𝑩𝑷

=
 

𝑰𝑩𝑷

=
𝐥𝐨𝐠(𝒙)∫

𝐥𝐨𝐠𝟐(𝟏 +𝒎)

(𝟏 +𝒎)𝟐

𝒙

𝟎

𝒅𝒎]

𝒙=𝟎

𝒙=𝟏

− ∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙

= −∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙
𝑰𝑩𝑷

=
 

𝑰𝑩𝑷

=

𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐
]
𝒙=𝟎

𝒙=𝟏

−∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 − 𝟐∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = 



 

= −∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 − 𝟐∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 = −𝑰𝟏 − 𝟐𝑰𝟐 

 

𝑰𝟏 = ∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 = ∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 −∫
𝐥𝐨𝐠𝟐(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟒
Ϛ(𝟑) −

𝟏

𝟑
𝐥𝐨𝐠𝟑(𝟐) 

 

𝑰𝟐 = ∫
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙
𝑰𝑩𝑷

=
−
𝐥𝐨𝐠(𝒙) 𝐥𝐨𝐠(𝟏 + 𝒙)

𝟏 + 𝒙
]
𝒙=𝟎

𝒙=𝟏

+∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙(𝟏 + 𝒙)

𝟏

𝟎

𝒅𝒙 +∫
𝐥𝐨𝐠(𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 

 

= ∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏

𝟎

𝒅𝒙 − ∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 + ∫
𝐥𝐨𝐠(𝒙)

(𝟏 + 𝒙)𝟐

𝟏

𝟎

𝒅𝒙 =
𝟏

𝟐
Ϛ(𝟐) −

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) − 𝐥𝐨𝐠(𝟐) 

 

𝑰 = −𝑰𝟏 − 𝟐𝑰𝟐 = −
𝟏

𝟒
Ϛ(𝟑) − Ϛ(𝟐) +

𝟏

𝟑
𝐥𝐨𝐠𝟑(𝟐) + 𝐥𝐨𝐠𝟐(𝟐) + 𝟐 𝐥𝐨𝐠(𝟐) 

 

 


